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Question Number : 1 Question Id : 1874635121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A. B and C are heterotrophic plants. *A” has no sex organs but produces sexual spores
exogenously. ‘B’ produces sexual spores endogenously and ‘C’ has no sexual stage but
reproduces asexually. Based on these characters. identify A. B and C respectively.
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Choose the correct pair of taxa showing following sets of characters in sequence.
1)  Trachaeophytic heterosporous plants with siphonogamous oogamy
i1)  Trachaeophytic heterosporous plants with archegonia

1) Archegoniates with zooidogamous oogamy

A)  Marchantia and selaginelia
B) Salvinia and Pinus

C) Polvtrichum and Eucalvptus
D) Cvcas and Eucalvptus
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Match the following.

A)
B)
C)
D)
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Stephen Hales
J. B. Sumner
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Haeckel
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Choose the correct statement.

ﬁ.@:ﬁ &0 u-a‘:ffﬂ Jéﬂg‘éﬁzf.m

Options:

Red colour of the red sea is due to dinoflagellates.

A radle Jod P dSwgo AT odood

Heterocysts of cyanobacteria fix atmospheric nitrogen.
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Mycoplasmas are pleomorphic due to the presence of cell wall.
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Presence of mycolic acid in the cell wall of diatoms is the reason for the left over
cell deposits in large amounts in their habitats.
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Match the following.

List-1 List-IT List-III

A) Acropetal arrtangement 1)  Dichasial cyme and I) Mangifera

monochasial cyme

B) Margin of thalamus 1) Inferior ovary II) Cypsella
enclosed the ovary

C) Single ovule attachedto 111) Simple raceme II) False whorl
the base of ovary

D) Lanuaceae 1v) Persistant pappus like calyx IV) Guava
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Read the following statements and identify the correct pairs of plants
(A) modified protective bract and edible pedicel
(B) food storing floral bud and leaf bases

(C) photosynthetic stem and petiole.
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Identify the correct ratio of haploid, diploid and triploid conditions of cells and tissues
listed in the given table.

Pollengrain Nucellus Sporogenous tissue
Endosperm Perisperm Egg cell
Synergid Zygote Scutellum
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A total of 168 pollengrains with 14 chromosomes in each pollen grain are released froma
mature microsporangium. Mention the correct ratio of pollen mother cells. generative
cells. vegetative cells and male gametes produced by the microporangium.
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Options:

-2

Choose the correct matching.

A)
B)
C)
D)

List-1

Dioecious plant with Archegoniophore
Monoecious plant with Oogonium
Homothallic plants

Dioecious plants with pistillate flowers
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Choose correct pair from the given below related to the study of fertilization.

A) | Aquatic Large no. of gametes released into External Syngamy
algae the surrounding medium

B) | Moss plants Large no. of gametes released mto air External Syngamy

C) | Seed plants Non motile male gamete reach the egg Internal Syngamy

D) | Pteridophytes | Motile male gamete reach the egg Internal Syngany
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Match the following.

A)
B)

C)

D)
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Radical leaves 1)
Exstipulate leaf i1)
Monocarpellary 111)
unilocular gynoecium
Species plantarum )
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Study the following statements.

L Circular naked DNA is the genetic material.

II. Membrane bound cell organelles are present.

. Cell membrane infoldings called mesosomes present.

IV. Nuclear membrane absent.

Arrange the given organisms based on their above respective characters and give the ratio
A) Bacillus B) Nostoc C) Noctiluca D) Chlorella

E) Rhodospirillum F) Trichodesmmum G) Amoeba H) Euglena
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Assertion (A) : Syncytium is the result of karyokinesis not followed by cytokinesis.

Reason (R): In plant cell. middle lamella formation starts from centre and grows
outwards of the cell and leads to cell wall formation.
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(A) and (R) are true and (R) 1s the correct explanation of (A).
| (A) bdodw (R) en 50G3080 Hobaln (R) @dodsd (A) 0 S0808 Jd8e.

(A) and (R) are true. but (R) 1s not the correct explanation of (A).
; (A) 00cln (R) oo 08G0&8D 570 (R). (A) @088 (A) %o 0508 Ik s,

(A) is true (R) 1s false.
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(A) 1s false. (R) is true.
(A) 285056 sk (R) 2050856.
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Identify the correct series of biomolecules which donot belong to the given category
. Homopolymer

. Secondary metabolite

. Neutral Aminoacid

. Aromatic aminoacid
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Observe the following functions of the cell.
. Synthesis of protein and enzymes

. Synthesis of lipids

. Synthesis of Glycolipids

. Enzymes optimally active i acidic pH.

Arrange the given cell organelles with their respective functions.

a)  Golgi apparatus b)  Rough endoplasmuc reticulum
¢)  Smooth endoplasmic reticulum d) Lysosome
e) Ribosome f)  Mitochonchia
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Assertion (A) : Ions and organic material concentration is higher in cytoplasm than
vacuole.

Reason (R):  Tonoplast facilitates the transport of ions and other materials against
concentration gradient into the vacuole.
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(A) and (R) are correct. (R) is the correct explanation to (A).
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(A) and (R) are correct. (R) is not the correct explanation to (A).
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(A) 1s true. (R) 1s false,
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(A) is false. (R) 1s true.
(A) 2050356 52 (R) S0G086.
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Arrange the following aspect of a double stranded DNA molecule with the
F'AGT CGT CGAAS sequence inascending order

A) Number of phosphodiester bond
B) Number of H, bonds
C) Number of total pyramidines
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The tissues from which cambium ring 1s originated in dicot root and dicot stem.

Gedie Dz I DO FoTred’ Jwrag $wrdd Jodho & Snworo ol GEE
29110030

Options:
Cambium between xylem and phloem : Pericycle and medullary rays
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Tissues below phloem bundles and ; Medullary rays. cambium and phellogen

portion of pericycle tissue
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Identify the correct series of tissues which show the following features.
. Maintaining pressure gradient in the sieve tubes.

. Tissues absent in monocots,

. Mature cells lacking nucleus.

. Dead cells found in the finit pulp of sapota.
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Phloem tibres. Intercalary meristem. Albuminous cells. Collenchyma
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Companian cells. Phloem parenchyma. Sieve tubes. Sclereids
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Assertion (A) 1 A mature leafy tree produces as much oxygen in a season as 10 People
inhale in a year.

Reason (R):  Forests provide a vast bank for CO; and a huge amount of CO; 1s deposited
in timber.
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(A) and (R) are true and (R) is the correct explanation of (A).
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(A) and (R) are true but (R) 1s not the correct explanation of (A).
(A) 2ociw (R) oo 305030, 0 (R) wdodd (A) o 30818 8w s°60.

(A) 1s true. (R) 1s false.
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(A) 1s false. (R) 1s true.

(A) 568058 57, (R) H85038.
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Identify the correct phenomenon with reference to transport in plants.
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Harmones are chemical stimulators always transport towards growing points.
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Transport of water and minerals through non living conducting tissue 1s
multidirectional.
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Transport of solutes through living conducting tissue 1s unidirectional.
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Diffusion and cytoplasmic streaming supplemented by active transport is necessary
for movement of substances to shorter distance.
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Deficiency of a set of three mineral ions induced by excessive absorption of manganese
lead to the following set of metabolic disorders. Identify the set of deficit nuneral 1omns.

A) Transfer of electrons by ferredoxin and Cytochromes

B) Synthesis of DNA and RNA
C) Normal functioning of the cell membrane
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Identify the set of deficit mineral ions.
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Iron. Magnesium and Nickel
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200, SrOHISs Soboko Jofgico

Iron. Magnesium and Calcium
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Choose the correct combination.

Enzyme reaction - Enzyme name - Enzyme class
A)  Glutamic acid — Glutamine - Glutamate synthetase - Ligase
B) Fmul.6BP—-Frmu6MP - Phosphatase - Hydrolase
C) Glucose =2 Glu6P - Hexokinase - Transferase
D) Argino acid — Arginine - Argino succinase - Lyase
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Question Number : 24 Question Id : 1874635144 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
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Which of the following statement 1s correct with reference to absorption spectra and action
spectra

A) Inblue light. Chl. a shows maximum absorption peak than Chl. b
B) InRed light. Chl a shows maximum absorption than Chl. b

C) Absorption spectrum of chlorophyll is maximum in blue light, wheras action spectrum
1s maximum in red light.

D) Rate of photosynthesis 1s measured by O, release,

e Ho0din oy SPHiro donofod Bod Tgpgee” SO D2

A) 00 5708e5° Chl. b £0& Chla glere! Fam 3pddn Wrdo

B) &) s8¢ Chlb 08 Chl a 583 §*&e Srio

C) 50 508s" 08 57 Eidgo B0, Tie SEH0 HG0 B, Borg G50 JHYTHS*
Qo

D) 0,080 o Smasy Ho@my Bokr ok EErBo.

The correct answer 1s
2OTH BETTBB0

Options:
| ABC

A.B

-2

ABD

, B.C.D

Question Number : 25 Question Id : 1874635145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Identify the wrong statements with respect to ATP synthesis in Chloroplast based on
Chemiosmotic hypothesis

A) Proton gradient across the thylakoid membrane increases due to Quinone cycle
B) The movement of protons through F, leads to decreased pH in stroma of Chloroplast
C) Breakdown of proton gradient is a cause for release of energy

D) Splitting of water molecules produce protons in stroma of chloroplasts

T08 TeaPeS” BAresdeds pFodo werdor ATP 50380050 domodod $0b Hidaus®
S0y wad 8 Mbodod

A) S0 Jodho Sod Fosond Eo abIPer e mEE Pied DHIHS
B) Fyoor @irse dodo So8d FOEtany wigss” pH 8

C) @rS Bimsd dYSo Sol 9§ SeHS

D) 8 wmdo Do Hod 0800y Bug), wHfss” @Firder G&\8 o

Options:
| AB

g B

, B.D
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Question Number : 26 Question Id : 1874635146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arrange the following steps in ascending order based on no. of ATP molecules gained
when one glucose molecule participate in aerobic respiration.

I) Total no. of ATP in Krebs cycle
II) Succinyl COA — Succinic acid
II) Pyruvicacid —Acetyl COA
IV) PGAL —-BPGA

a8 APS'E Tl THBoLS” FSTHLP Bod HEge” GBS ATP JES ererd) ef'is
EH00e”™ wdodyysw

D g dochod AS\E ATP en

) 8§08 COA - I5IF eiw

M) 2008 wdhbdn 5 e 8 A

IV) PGAL —-BPGA

The correct answer 1s
HOFOS BTS00
Options:
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Question Number : 27 Question Id : 1874635147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Based on plant growth regulation ability choose the correct combinations.

A) Carotenoid - ABA - Tolerance of stress
B) Terpene - IBA - Root elongation
C) Adenine derivative - KN - Production of new leaves
D) Purine derivative - C,Hy - Fruit ripening
Dobde Qoio@s Fdogsindy wRdtod & fod TS 38 wdod Mhiowidn
A) B&Esrond - ABA - wénore dordlad
B) 88y - IBA - B &b
C) ©&ds edamen - KN - F8 dEro &g
D) 5B ed Ty - CoHy - Porw D&
Options:
, B.D
2 AC
; B,C
4 AD

Question Number : 28 Question Id : 1874635148 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct mathematical expressions of linear growth and sigmoid growth and no.
of progeny undergo division in both growth curves.

S S DS DHBdin Jiryond SEdpei SrdoB HBd SEdedued Sodadin
& Doty dhdes® Jdas Tod ﬂ:gésﬁ*@ F:':-nggﬂr'f'): fo8ododwn.
Options:

Li=Lo+1t; W;=Wge": 1.2
1.

I
ek

3 L=Lgo+rt; W;=Wge";



L,=Lo+rg; Wj=Wge': 2,2
4.

Question Number : 29 Question Id : 1874635149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following.
List-I List-IT List-IIT
A) Photoautotrophs 1)  Oxidation of morganic I) Bacillus
substances
B) Photoheterotrophs i1)  Organic detritus ) Beggiotoa
C) Chemoautotrophs 1) Organic CO, D) Chromatium
D) Saprophytes 1)  Atmospheric CO, IV) Rhodospirillum
Bod D 2SHSSBN
wrdear-1 ardec-11 srfer-1l1

A) 508 dohoFasenr 1) wDoGS ST wbgde I) OOD

B) 508 dFusen i) odoh FBLD o) @Zjcardr

C) Sc5s iii) 883 CO, ) (§S0a0850
RLOS0F ALY

D) résSdes ) oesde CO, IV) &&2)0wn

The correct answer is

2OG0H BEFTBHB0
Options:

A B C D
w, I . IV 1, H 1. I

A B & D

, mII LI @IV nl

; il LIV LI LI



A B & D

LIV T EIT LI

Question Number : 30 Question Id : 1874635150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Enveloped viruses like measles. Rubella and Adenovirus attached to the
susceptible host by spikes.

Reason (R):  Influenza virus is an enveloped virus attached to susceptible host by spikes.

dfEo (A): QrRg), By Dobodn wdIJd0e Sod wmbd oo, JoPTIyg

wa&DownodH Srdanded SESESREIM LGV

stmo (R): AP0z IER S0l BTHBE JES [Ty wéions Srdlvded
wdB otnod.
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
| (A) obadn (R) en 50080, S0bdin (R) e@ddd (A) S S6508 J50k.

Both (A) and (R) are true but (R) 1s not the correct explanation of (A).
(A) S0dciw (R) e 50608, 5720 (R). 08038 (A) 0 S6G0&E i s°¢b.

(A) 1s true. but (R) is false.
(A) 565058 (R) $65056 5.

(A) is false. but (R) is true.
, (A) 20p50 v (R) S6g36.

Question Number : 31 Question Id : 1874635151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Find the mcorrect statement.
A) Chromosomal alternations are caused either by deletion or gain.

B) Genes with low recombination show linkage where as loosely arranged genes show
higher recombination.

C) Frequency of recombinations between gene pairs on the same chromosome indicates
their activity.

D) Segregation of genes occur in a less frequency in sexual reproduction.

& 808 TS BB sy Bood

A) FIrrSood’d Srine $05dn ST edsor Dab Sod Senhd

B) &8935 Hdbodraso §OAS ) a;ﬂag@m ﬁ”’mt:fjléﬁ& TS 00 DT @:ﬁ'ﬂ
BOOGRILY WS PYIDoTreT V) WIEPT oM

C) 2B FrFudd adgde ad gy HoB Hddodras FdPdgo o EIrF
2008, Sodrlodidy Srddod

D) BoAEHBS' afgde ISEE S58 Fdadgo wrPEos

Options:
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Identify the true statements regarding a Double standard DNA molecules of length 170 A
and possess purine and pyramidines in a ratio of 40% and 60% on one standard.

A) No. of Hydrogen bonds 130.

B) No. of phosphodiester bonds in one strand are 49.
C) No. of dicyclic rings are 20.

D) No. of thymines are 20.

W PSS rgioer B HIWBH 40% Hocin 60% 88 170 A o FEHS* Jod
G50 o DNA weodto So20fodsd 888 asgon Mbowdn.

A) TEee wogre Sogpg 130.

B) of S50 IR0 wogro dopg 49.

C) &Su‘ﬁ&:m’&méﬁ Secire Ef}uspg 20.

D) 3Bse Hopg 20.
The correct answer 1s
DOGH BHRrTRHEN

Options:
| 2 B.C

B.C.D

L2

A BD

, ACD

Question Number : 33 Question Id : 1874635153 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct statement.

SIsTonbhs] .:5“5235:63 oot
Options:
Capping of hn RNA means the addition of adenylate residues at 5' end.

hn RNA §' 855 888 olidre Gadird) shof eolrd
L :



y gene of lac operon encodes transacetylase enzyme.

rf wdTRS Y a2yl Eraendtd el JoB JS0Eed) Jrdob

In Eukaryotes structural genes are interrupted by coding sequences.

QBoEE £Pos® JTyw adugder wodordired Erédd $088 Eired’ Golrow

The lac operon has two regulatory genes and three structural genes.

o§ 2o S® Jody BBl adugPen, Sords AT adugPooodrow

Question Number : 34 Question Id : 1874635154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A student isolated a new virus which 1s able to infect E.coli. The following experiment has
to follow to confirm the hereditary material of new virus.

28 g0 2.8°TD HoDoodiie §°8 JoDke Ehoirayh. & FEE Bwk), eloBots STTR)
ATOOTITIE & FoPT oD BAXTY) wHDOBIDL.
Options:

Hershy Chase experiment — Growth on radioactive Phosphorous medium — infection
to E.colli.

_'b“% J08odn PE HRriiS00 —3&@?&“&5 a?)‘égdc"—a 8O0 dirdtow wdide —
2.5°0 doErdogdw

Mathew Meselon and Franklin Stahl experiment — 15NI—L;CI. N medium -
centrifugation.

Sy DonEHE Ho8050 (Fo8S TS PAEPHSN — P NHCl 5000 N airddod
DHhivde - wlBoldEdndn

Mathew Meselson and Franklin Stahl experiment — Digestion with protease - CsCl»
gradient centrifugation

Brgrg 0REHS Hobain |Fods 6 PAFTo - (PEGE SOArHod $8hothd

- CsCl hied ogo° wdBo\bsd



Hershy Chase experiment — Growth on radioactive sulphur medium — infection to
E.coli.

W, Ho00in PE PArHIN — VEIrToE oy dirdsop WhDEL - 25D

el w

ROIETR0g 800

Question Number : 35 Question Id : 1874635155 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following.

List-I List-IT List-IIT
A) HmdIII 1)  Agarose gel I) Sixbasepairs
B) pBR3%Z 11) Agrobacterium ) Selectable marker
C) T-DNA i11)  Ampicillin II) Elution
D) DNA 1v) Recognition sequence IV) Transgenic plant

1Bod TP 2808e50000

ardar-1 arder-I1 ader-111
A) HindIII 1) efd’t 8 ) wH zde srorew
B) pBR3% i) esardoah ) SSwo S0 58,6
C) TDNA 1) @WoHndo ) Jeoglds
D) DNA V) o005 wdEHakn IV) 285303508 Joog o0

The correct answer 1s
ROGHN BArETENe
Options:
A B & D
1w, 1 1. 1T 1. I1 n. IV

A B & D

v, I 11, [T 1. 10 i, IV

L2



A B i D
iv, I ., IT 1. IV 1. 10
A B e D

5 1. 10 i IV u 11 iv. I

Question Number : 36 Question Id : 1874635156 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A. B and C are transformed host cells with -DNA made of PBR322 < A° has foreign DNA
insert at Bam H1 site, ‘B’ has foreign DNA insert at py;1 and ‘C” has DNA insert in Lac 2.
When they are grown on media for selection following changes are observed.

A) “C’ transformant produces blue coloured colonies

B) “C’ transformant colonies do not produce blue colour

C) ‘A’ transformant survive on the medium containing ampicillin and ‘B” survive on
tetracyclin containing medium

D) Due to msertional inactivation. ‘A’ survive on Tetracyclin containing medium and ‘B’
survive on medium with ampicillin

A. B S5080s0 Cedat Surd Seres PBRI225, 00@3raod Soirdding $05d8 Swren.
‘A’ &° Bam HI :?;;60&5“ Jerdasy DNA Foyodesdsd, ‘B’ & pyyl %‘-*éﬁueﬁ* Jer&ok
DNA Syosedss. ‘C’ ¢* Lac 2 g Jerdo DNA TH050856. I8 IQYE S8
sl DoAIYPE & Eod rdner HHAoBIE .

A) C 5065880 OG0k dHurFie Iy

B) C’ 50588 ddorSien o Srdd
C) FAR0S8Eren wondds &&) cirdEing’, ‘B’ 050w Brpis &) drdsod’

D) ad)dds assSas Sod ‘A BrRsS ¢f) cirdgost ‘B’ wobbos ¢¥) crdses®

Identify incorrect statements

2057 TrETg) LE o

Options:
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B.D
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Question Number : 37 Question Id : 1874635157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct sequence of steps in PCR

20508E BS 005085 (PCR) & S8ge SEDHESB0
Options:
Amnealing - Denaturation - Extension - Amplification

wadoh - ﬁﬁ‘se&*ééd&ﬂ - >F&hoy - &Smaﬁédm

Amplification - Annealing - Denaturation - Extension

&‘Sﬁua‘ﬁédm - wdoh - Qﬁ‘ﬁe}‘ﬁgdﬁ} - FHA0D

Denaturation - Annealing - Extension - Amplification

E@“ﬁaﬂf;édm - wdof - F&EAOY) - &Smsﬁéﬁaa

Denaturation - Amplification - Extension - Annealing

D@’Swﬁédm - dﬁgi‘i}s_‘5§ém - >EAOY) - BROR

Question Number : 38 Question Id : 1874635158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Blood cholesterol i1s lowered with statins produced by yeast.
Reason (R):  Statins inhibit synthesis of cholesterol through competitive inhibition.

apdo (A): &SI

L) ﬁ@ge&i’éa’} {Eﬁﬁm D’_E;uej* E‘EQD’“@'& ﬁﬁ’ﬁ@w
e - . -
s&wo (R): T B0
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Options:



Both (A) and (R) are true and (R) is the correct explanation of (A).
(A) S00on (R) en 205052, 2080in (R) @sd (A) 8 S8508 Jdde.
1.

Both (A) and (R) are true but (R) 1s not the correct explanation of (A).
(A) 20cin (R) en S8&05, 50 (R) @056 (A) S D068 8 57,

(A) 1s true. but (R) is false.
(A) 30650356 (R) 205086 s°¢b.
3.

(A) is false. but (R) is true.
, (&) 9030 5 (R) $0@056.

Question Number : 39 Question Id : 1874635159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following.

List-1 List-IT List-IIT
A) Biological nitrogen fixation 1)  Trichoderma I) Bacterium
B) Mycorrhiza i1) Propionibacterium 1II) Freeliving fungus
C) Biocontrol 1) Azospirillum I) Fungus
D) Swiss cheese )  Glomus IV) Free living bacterium

808 TAD 2BBEN

a1 arda-11 ardar-11
A) &5 Sgad TIS i) J&Foy ) wfocdods
B) #dogdareoc i) @dArderddand 1) ?Jsmjgéa‘i:é 200G 80
C) 25 dodoge i) @& )00 M) 2&osw
D) 2% erdy iv) Ao V) J‘A:uﬁgagéﬁé wr§00550

The correct answer 1s
HOGH BErTBB0

Options:
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Question Number : 40 Question Id : 1874635160 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Choose the correct statements.
I) IRS8is asenu dwarf variety of rice developed mn India.
II) Hybrd sugarcane show high sugar and high yield.
II) Hybrid millets are resistant to water stress.
IV) Sonalika is a high vielding and disease resistant hybrid variety.

& Bob TRS” HOGHD Mbowabn

) IR8uIb erddtdod” Sairddng rd S8 H0

) TTO& DeH i 80 2oy whE Hibad ofrew 80 &olnod

) & E}cﬂc@mgw Ot (Ddweodn Bodoko BNa ROEE ofcren é@a’} O5ren
V) &ords edosd «ff Hibhad iodn o738 JIG°EE @6 Aog, J8dw

Options:
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Group All Questions: No

Question Number : 41 Question Id : 1874635161 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : The tropical Amazon rain forest in South America has the greatest
Biodiversity on the earth

Reason (R):  The tropical latitudes have long evolutionary time

Lo (A): dridon G8n oOFTSV vl G Rode ﬂ@daﬁﬂg&:ﬂ“ﬁ L ATALS
233DGg0 BEQLH0E

sde0 (R): eldode wgoTod &c‘f:c\:i 2BsrdTo SgHH oHodod

Options:

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(A) 06050 (R) &0 Bodsr $0G0SD 58050 (R) w3d (A) & H0G3S D560
l.

Both (A) and (R) are correct but (R) is not the cotrect explanation of (A)
(A) D8asw (R) ev Sodr 5066050 570 (R) @38 (A) § $0530% D8 5780

(A) 1s correct but (R) is not correct

(A) 58358 2 (R) 565058 59

(A) 1s not correct but (R) 1s correct

, (A) 308058 3 9 (R) $08H56

Question Number : 42 Question Id : 1874635162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Assertion (A) : In old age. bones become more brittle

Reason (R): During ageing. the quantity of organic matter increases in a bone

Dgo (A): S5050% DOA FH JdwEen ddor ePHeron
560 (R): SR0EeS® Schdo e §‘cc';:j B8y dorTes wgborm Boer o

Options:
Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

| (&) 0050 (R) 02 Todsr $0@3D Ho0ahs (R) €30 (A) S 0G0 D56w

Both (A) and (R) are correct but (R) 1s not the cormrect explanation of (A)
(A) Sbosw (R) oo Sodr $600H0 570 (R) w36 (A) 8 208 Jides 570

]

(A) 1s correct but (R) 1s not correct

| (4) 2056 50 (R) $0G036 w6

(A) 1s not correct but (R) 1s correct

, (A) 308058 56 5 (R) $0&80

Question Number : 43 Question Id : 1874635163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Study the following statements

A) Tnploblastic animals are usually biradially symmetrical

B) Certamn organs in vertebrates are covered by parietal peritoneum only on their ventral
side.

C) Pancreas is an example for holocrine gland

D) Elastic cartilage 1s found in the wall of Eustachian tubes

Bod woren wgobdo Bobod.
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8508 @Y FEdwom Srhoch TRTQ) AN G odraw
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B) 38ihsrod’ §Q) widchare edderiod” Sr@d Bird 3508 Shad wolrown.

C) §o ”’J‘“é*@_:% Wohs somirde
D) ROFHE Soydoory Fgose FEd, &odnod

Among the above identify the correct statements
PTdS” B0 @8 woTer Lfodod
Options:
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Question Number : 44 Question Id : 1874635164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Match the following
List-1

A) Cuttle Fish

B) Devil Fish

C) CrayFish

D) Jelly Fish

1Bod 8BI 28HGdSok
eda -1

A) E8E T

B) Qodgd WA

) @ 3%

D) 20 35

The correct answer 1s
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Question Number : 45 Question Id : 1874635165 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

sz2H8°

List-1I

Green glands
Medusoid form
External shell
Internal shell
Shell is absent

e - 11
08 oo
DodrFr drdo
ey 860
wodd F5y00

§5y80 S*DoWD

Single Line Question Option : No Option Orientation : Vertical



Study the following regarding arthropods

A) Insome spiders respiration is performed by both book lungs and trachea
B) Development of king crab includes trilobite larva

C) Blood of arachmids contain haemocyanin

D) Indiplopods mandibles are modified into gnathochilarium

sGFre £Jo Hiod Bod woTer wdgahido Voo,

A) FQ) O¥S” roinarerer 0 PISTE Ghd8den oo FEoh 2l
B) ordad e-.l:é:};’}_j%@“ E@“@& Goeddo G otiod

C) oo 2ho §80S° rIrdohIL Golod

D) &¥da £Hod THHes Sry Dod 38TB0cho DYk

From the above. Identify the incorrect statement(s)

D J8SY, D057 wodhn(en) HboPHdw

Options:

| A&C

B&D
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Question Number : 46 Question Id : 1874635166 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Teeth in mammals are

B8ty dogten

Options:
Acrodont. homodont and polyphiodont

eo|fiddod, ddodod, aduarddod GES®
1.
Acrodont. heterodont and polyphiodont

widod, JQS0dod, adTuarddod G800
2,



Thecodont. heterodont and polyphiodont

fgdod, JAGod, advarddod JE
3

Thecodont. heterodont and diphyvodont

Modos, Jandoed, Brarddod T8
4.

Question Number : 47 Question Id : 1874635167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Study the following and choose the correct combinations

Group Example Character

A) | Chondrichthyes | Torpedo Dorsal muscle modified into
electric organ

&

B) | Rhynchocephalia | Sphienodon | Copulatory organ is hemipenis

C) | Urodela Salamandra | Amphicoelous vertebrae
D) | Chelonia Testudo Edentate

Bod T8 H02000, THS* OGS WEJoP Mbotiod

o

=) - Tappepletssl 800
A) 50|80 &roya® Syasodoren ddugd
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WHGST LT D380y
B) So§ Rardair )G D00, widbdo TLHRID
C) oSar&iher Fosro@E | Gchnd §Eoses
D) §5* Qs Dadyes” Sod dirdo
Options:
p AC
g B,C
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4 C.D

Question Number : 48 Question Id : 1874635168 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Match the following

A)
B)
C)
D)

Sod

A)
B)
©)
D)

List-1
Isogamy
Anisogamy
Hologamy
Conjugation

TEL 2EHES0b
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Wed mod3Fho

The correct answer is

DOGE HEPETEE0

Options:
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Question Number : 49 Question Id : 1874635169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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V)

List-1II
Trichonvinpha
Euglena
Plasmodium
Monocystes
Paramoecium

Single Line Question Option : No Option Orientation : Vertical



The following chemical is commonly called smack.

Bob 6'5:'33‘0536‘*{% g™ CE‘-'&EH‘-‘ ) RS

Options:
Morphine

w 6 =
3 P Jv;ﬁl
Diacetylmorphine

BIVBS 5r6)S

Cocaine

£33

Cannabinoids
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Question Number : 50 Question Id : 1874635170 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Microfilaria exhibits noctural periodicity
Reason(R):  Intermediate host of Wuchereria is active only during night time

DHgo (A):  DERBoCr dTse wiGT) Sggo Bdged

[/

s°6mo (R): &S00 DEgNsdlon Tt SrE@d Bdrivom Gotnod

Options:
Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

| (&) Dot (R) o0 Bodr 506G 5000k (R) 03B (A) % 605 256w

Both (A) and (R) are correct but (R) 1s not the cormrect explanation of (A)
(A) Soos® (R) &0 Sodr 206040 570 (R) w36 (A) 8 H05308 Jd¥e 570

(A) 1s correct but (R) 1s not correct

(A) 565058 52 (R) 503058 5°&
3.



(A) 1s not correct but (R) is correct

(A) 5653058 % 5 (R) $65058
4

Question Number : 51 Question Id : 1874635171 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical

The following are events in life cycle of Plasmodium i female Anopheles

a) Syngamy b) Formation of gametes
c¢) Oocyst formation d) Sporocyst formation
e) Ookimete f)  Zygote

Wi JTpoSS" Zdabo 218 HIECR G (DBdben 8ol It ow

a) ol b) Daeres JdELO
c)  BRR JHELO d) TP AdyEwo
e) ¢nERL f) Hocing Do

Arrange them in correct sequence

D B TBS 3% EHoos® w0l

Options:

1

d.c.e.f.a.b

_ b.a.fced

; b.a.f.e.c.d

I

“bha e cid

Yes

Question Number : 52 Question Id : 1874635172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Study the following statements regarding filarial worm

A) The mflammation i the Iymph vessels 1s called lymphadenitis

B) Swelling in the extremities of limbs. scrotum and mammary glands 1s called
lymphoedema

C) Sausage shaped larva undergoes three moultings and transforms into infective 3
stage mucrofilaria

D) 3" stage microfilaria larva enters the blood vessles of man and undergoes the 3'd and
4% moultings to produce young filarial worm

rd

PO00ir PO 0D Bod oo wigohido Bobod

A) FEES reredt £0R TP Dodrdodln wolrd

B) #dfTrome Q5bgrmren, Swdy o, dTes T8 SoPFIdSr wolrd

C) & usd Gogifo drdy 8 baren Frg BHFR o s 35 &7 PE pBBirT
DFGB08

D) Sor&dd DERO0Sr Godlo SrdP ETeosIE §0 385, 45 QT haren
20PEV RIoSr YT Srddiod

From the above. identify the correct statement(s)
2 TEO" H0GS woddw(wn) Hhothin

Options:
l. B

, B.C&D

,B&D

, AB.C&D

Question Number : 53 Question Id : 1874635173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the mismatched pairs

A) Trophocytes - Symbiotic bacteria
B) Mycetocytes - Store food

C) Urate cells - Nitrogenous wastes
D) Oenocytes - Secrete lipids

808 T8S° DO 2dHddadl 2den
A) @' Fntn - JTEDIS wrEboir
B) o4 il - eFfto Jend

C) c5rdd Booren - SBad Ddaen
D) &Sl - FRge @&

Options:

e

AC

o]

AB

4 AD

Question Number : 54 Question Id : 1874635174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following which are related to cockroach

List-1 List-1I
A)  Adductor muscles I) Depression of wings
B) Dorsal longitudinal muscles II) Respiration
C)  Alary muscles II) Mandibles
D) Dorsoventral muscles IV) Excretion

V)  Blood circulation

ﬂ@uéé& mo0Rotd Bod TEBL =2SBTLod

e -1 e -1
A)  ©DS8R Sodoren ) THeo Bodd oo
B) &y woded godoren I exdiode
C) &S558 Zodoren ) &Sedopen
D) S8 Sodoren IV) 23g%

V) SEpd8m
The correct answer 1s
HOG0H BETTHB0

Options:
A @® © @O

a4 B © O

@ B ©O© O

Question Number : 55 Question Id : 1874635175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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If 20 joules of energy is available at the producer level as net primary productivity. then
amount of energy available in secondary carnivore in joules.

aSBrho FEETons' 20 TE) 4 IES FENE SenEES eSiond Gdah

SroFFHos’ ol 9§ (Fod)

e

Options:
1. 2

L2

, 0.002

Question Number : 56 Question Id : 1874635176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Circannular rhythms are controlled by biological clocks
Reason (R):  Temperature has a role in sefting the biological clocks

Ao (A): 08 wobod S5MbrTe JohodFow
sdmo (R): E204irTe JTdnd” Gifid PG Sotnod

Options:
Both (A) and (R) are correct and (R) is the correct explanation of (A)

(A) 56050 (R) &0 Bodkr $6G0SD 58050 (R) 36 (A) K H6835%5 D56

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) 803» (R) &0 Bodr H65085D 570 (R) @3s (A) 8 30538 Jhde 57

(A) 1s correct but (R) is not correct

(A) $85058 50 (R) $6G3058 %
3.

(A) 1s not correct but (R) 1s correct

(A) 5863058 5& 59 (R) $6&058



Question Number : 57 Question Id : 1874635177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Study the following statements and identify the incorrect statements.

Bod woren H0200N JOFTI woddw Hiotod

Options:
Deeper region of dermis is made up of dense urregular connective tissue

wodfi510e" BN (Fogred® Fodch Eldrd Jodral Snwreo Golnod

Tendon is a dense regular connective tissue

) vaoddo wf Fododh EHohwd HoBreE Emeareo

Pisiform bone is a visceral bone

DT DHW0E e wodoroll B0

Megakaryocytes produce blood platelets

SESo B ovrd o €oren &6E Sdow
" S ST, OL NS B

Question Number : 58 Question Id : 1874635178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Fresh water fishes acquired several adaptations to withstand endosmosis problem. They are

A) Their aglomerular kidneys excrete large quantities of water through urine
B) They compensate the salt loss by absorbing salts through chloride cells
C) They retain urea in blood to keep the body fluid isotonic to aquatic medium

D) Their glomerular kidneys excrete large quantities of urine

©08d (BTddn dHdgeis I HE" 8 500t Diw eI vdsroTod TFomrow. @

A) o83 SEEET 9T hgderd Hrghomen Sorgo agos whE QG DBG a0

B) o odwrosd 5088 Swro oo Fuod Sy 8 darow

C) BHr@ssnedn 858 8BS SHomgds’ SodaI8 dEoss® dordairdd end
DoEolrron

D) &8 $5iardsihy) Swrghore v wgod” Hured) JDQIow

Choose correct statements
P0G drpgony ot

Options:
| A&B

C&D

2
, B&D

B&C
4

Question Number : 59 Question Id : 1874635179 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Imagine the lion population of 40 in a forest cannot continue to grow exponentially due to
lack of space. The carrying capacity for their space in the forest 1s 80. Assume ‘r’ value of
Lion population is 0.2 Lions/month per capita. Predict the total population in this logistic
growth situation after one month.

2.8 ©EleS® HoSte 2o 40 wond, aarHo S6Mdor Godlio Sad ediraol 53@5
FOSBEFSTrN. ¥ WEDS FESTS 8 Dend 80 Bubos el R0@BYS dex (1)
Juon 0.2 RoFfw/Iu. oragl Wiy ?ama?ﬂeﬁ* wE J0 dard oo Jndo 2t

DO ?

Options:



40

k-2

44

Question Number : 60 Question Id : 1874635180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The disease occurs due to deposition of iron particles in tissues is

marorod” qdod Tavden Bdbo So 597 58

Options:
Silicosis

DOEDHS

Siderosis

o o =
G0 el

12

Emphysema

aod st
Pneumonia

505 3D oS

Question Number : 61 Question Id : 1874635181 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Study the following (consider maximum values)
A) Inspiratory Reserve Volume (IRV)

B) Tidal Volume (TV)

C)  Vital capacity (VC)

D) Total Lung Capacity (TLC)

E) Residual Volume (RV)

Bod O wdgohse Bolndn (T08 dwde wwdor)

A)  eangh deod wIsosrwe (IRV)
B) 84S srorgan (TV)

C) 3bS aggo (VO)

D) g 9% asgso (TLC)

E) @dia oddddree (RV)

Arrange the above volumes of air in ascending order
D TUS mO HSH0Sreo sFdor s Eined” wdl

Options:
IBAEaCaA%D

E-C—-2>B—=2A->D

3 B—2E—2A—->C—-D

4 Bo2E—2A—-2D->C

Question Number : 62 Question Id : 1874635182 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



s

The above ECG mndicates the following disorder

20 29@ed ECG & $ob wdned Jorikeed
Options:
Hypercalcinua

Hypocalcinua

TIFTYHasr

Hypokalemia

: T 5O oesre
Hyperkalemia

5 @ﬁﬁ?@&uﬁ&

Question Number : 63 Question Id : 1874635183 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Assertion (A): Inhuman heart. deoxygenated blood always flows from right ventricle into
pulmonary arch only

Reason (R): Mitral valve present at the base of pulmonary arch prevents the reverse
tlow of blood

B (A):  ErEH HoBS® Kb 2E0ES™ s5rad Erd EEo Johydr YYD THoS'
SrEH HSE006
o (R): RYS TS0 BwE) HFriod WS oo Il I
BS5EroBdas
Options:
Both (A) and (R) are correct and (R) is the correct explanation of (A)
; (A) S8osw (R) o0 Sodr 206080 Hodain (R) @36 (A) S 20838 2580

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) Sbasw (R) e Bodr H066050 570 (R) ©3s (A) § 30838 I8 s°¢h
2

(A) 1s correct but (R) 1s not correct

, (8) 50056 =3 (R) $0g56 56

(A) 1s not correct but (R) 1s correct

(A) 385358 5% 570 (R) $65058
4. o =
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Study the following table

Part of heart

Location

Function

A) Fossa ovalis

Interatrial septum

Directs blood from right

atrium to left atrium

B) Sinoatrial node

Wall of right atrium

Initiation of systole

53] Atrio-ventricular node | Interventricular septum | Acts as pace maker
D) Bicuspid valve Left atrio-ventricular Directs blood to flow from
aperture left atrium to left ventricle
Bod HGEXD S08Yoded
HoReTR o relatLo 8
A |2 wsos §857088 HEre0 55:0) %0850 $r08
JESOES™S RO oRIRIoh
B) |%0°-505 Ssod) | Kb 588 Bobgo DS ebogfo
C) §%F—&:655‘-‘ Ee0ow) | =805 0d8 DHbeo ©oirdodEom dJWN0h
D) aed@sa o IS g5 -addwT E5) JEd €08 ool A&
doo 2808578 (DRI 0HIH0E

The correct combinations are
E éé&é@*‘ DO 28DD &) woTen

Options:
| B.C

A B

o]

3 AD

, B.D

Question Number : 65 Question Id : 1874635185 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Study the following statements

A)  Atria and ventricles are externally separated by atrio-ventricular septuum

B) Two ventricles are externally separated by an oblique mterventricular groove

C) The muscular pouch like projection from each atrium 1s called auricular appendix

D) Inembryonic stage. the interventricular septum has fossa ovalis

Bod wozed H030oad.

A) Egsoi, adbfudh Jwdom IHTE §85°-2805 HLLO Golwod

B) Do 28080 Iwodomr IHTI: JbTroom 2805 0s808me odnod
C) 888w oy g erfiod’ %08 Sodloind §'TQ) 505 Godrso wolrd
D) DHodddes® 2805088 deood” P wadt soluod

Identify the correct statements

2 8S° S8 woTren wodod

Options:
; AB

B

L2

- ED

4.A‘D

Question Number : 66 Question Id : 1874635186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct order of stages in muscle contraction

EoddRoE H05°) dod S0GS SHIJED0S” wiody)Hn

- B

Options:

Stimulus — Release of acetyle choline —s release of Ca®" ions — Excitation of triad
system — sliding of thin filaments — Z-membranes brought closer

GHIS = TS §IS Hkode — Ca?" worse dde — BoSrdgSg &RHS —

HB)D SodPes ddo — Z Sgren Sk omdo



Stimulus — Release of acetyle choline — Excitation of triad system — Release of
Ca”" ions — formation of cross bridges — sliding of thin filaments — Z-membranes
brought closer

G635 — IHBS £O5 e - BAirsgHs 6585 — Ca¥ voirSe a%Ee —

&cc% ROB LI Ddﬁdc‘éu — K:F.}l“ Sodoen odo — Zﬁsﬂ"*w ciﬁ-:ﬁéa oxdnlele

L2

Stimulus — Excitation of triad system — Release of acetyle choline — Release of
Ca?" 1ons — sliding of thin filaments — formation of cross bridges — Z-membranes

brought closer
SGHIS > (oS gide 8IS = IVES FOS dhde — Ca¥ odirae ddde —

RO dodoen arldo — Wi JodJe Dn‘fgéé.:u — Z écaren Giids Trido

Stimulus — Exition of triad system — Release of Ca* jons — Release of acetyle
choline — formation of cross bridges — Z-membranes brought closer — sliding of
thin filaments

855 — Boirsgsy @ — Ca’t wairSe DG — IHBS §O5 dbde —

&
e-_ec‘ég OB Dd:jc‘ééao — 7 érgren c‘igjdéa orRG0 — é:ﬁf} SosIJer 080

Question Number : 67 Question Id : 1874635187 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Study the following

A)  Action potential B) Threshold stimulus
C) Under shoot / Hyperpolarisation D) Influx of Na™ions
E) Efflux of K" ions

Bobd TR edgobdo Wi

A)  @aSrEg B) @g afss
) AdFan /ebd)dSo D) Na" edrse wodfiodo

E) K" woirde arfeodo

Arrange the above in a correct sequence of nerve impulse generation and conduction.

THHTESS BATHH0, JFTTOR Jowodod D LOTOD FEHHESS” w0

Options:



| BoA—-D—->-C—oE

A—-B-C—oD—-E

L-2

B—-2D—-2sA—>SE->C

3 BoD-sE—2A—->D

Question Number : 68 Question Id : 1874635188 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following
List-1 List-1II

A) Complement proteins I) Promotes apoptosis

B) Interferons II) Incorporates viral DNA

C) Interleukins M) Membrane attack complex
D) Integrase IV) Antiviral proteins

V) Differentiation of immune cells

Bod T8I 28580508

e -1 e -1
A) D85S (@FESen ) oFSo% @FEorothls
B) =mobdaoroes 305 DNA & w880l

C) mobdeorgiow

D) =oS@&

SSTE Hobho

s 88

HOIEE | FeSIen

V) Tgh 568 Sere DBES0

The correct answer 1s
DO DBFTHER

Options:
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Question Number : 69 Question Id : 1874635189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Study the following statements

A) Calcitonin regulates the metabolism of calcium

B) Oxytocin stimulates contraction of uterine muscles

C) Graves disease is due to malfunctioning of adrenal gland

D) ADH stimulates water secretion and increases urine formation

808 wore wigodido Bodob.

A) 59000 E5fchodn FTHEID Aco@nod

B) 8w donyded Sodore Do) (0Ll

C) ©ddy%, (Hod Hom HJVCEFSE0 So (g Tgh Soureod
D) ADH Q8 @) (000D «hE Soare ) 668 Dondyod

Identify the incorrect statements

2 TES° 05 woTen Hfothiw

Options:
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.
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Question Number : 70 Question Id : 1874635190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The unique feature observed in the foetus during fifth month of pregnancy

ﬁo’;c;i“dm@':‘ 55 0" @rwmod' I om0

Options:
Body covered with fine hair

#6350 @u&iéﬁ‘x_:é Fored éﬂ:& Sodiio

Development of limbs

E50ITe 60 ﬁ}ﬁn‘jﬁu DoddEo

1

Appearance of hair on head

Sood Jonfen orddo
Formation of heart

i?“'jd G300 ﬁd&d‘éé&u

Question Number : 71 Question Id : 1874635191 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Study the following about contraception

List-1 List-1I List-III
A) | IUDS Lippes loop Medicated
B) OCPS Saheli Non steroid
C) | Contraceptive injections | DMPA Prevents pregnancy for 3 months
D) | Barrier method Vaginal nng Release of progesteron
E) | Surgical method Vasectomy Removal of fallopian tube

RODE T8 Ho20HoDdS YdoHedn Hododod
y Q:I

erdar-1 arda-11 erdor-111
A) UDs OESNSTES LAGoswdo
B) OCPS Serd RTroNG o
C) ﬁdﬁi&&‘dé 2l doodoen| DMPA 3 [oe S8 ﬁci%}c:j“cﬁra NE g0
D) | w38 D88 RBrd Sodho | |PBYTR IS
E) | #3284, Slale 3‘?&5& TSI LR T¥o Fohiod

From the above. identify the incorrect combinations
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Options:
i AD&E

_A.C&D

; C.D&E

, B.D&E
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Study the following parts of the male reproductive system.

A) Retetestis B) Epididynus
C) Urethra D) Semuniferous tubules
E) Vasdeferens F) Ejaculatory duct

(G) Vasaefferentia

DA 25J0Bo% $gHH80 Howofond Bod ol wggohdo Dodod.

A) 6885 B) 2583205
C) o D) ©HEeEE 98w
E) #$HEaoirs F) Hod ¢

G) HE 9w

The correct sequence of parts through which sperms pass out is

DT wchbt F& SroQ) HBS SHVERS® ©Rds

Options:

| AB.C.D.EEG

, D.A.GB.E.F.C

 BAGEBFC

Lad
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Question Number : 73 Question Id : 1874635193 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The usage of technique gel electrophoresis is

2O QE@%?&E @l FoEdE ITHH0 GHIRFHSI®L
Options:
Separation of DNA into individual bands

DNA % 55816 d8eoom ScSctin
1.



Separation of double helix DNA nto single strand

Qe DNA S8, oo JEFS DNA Re I

Production of many copies of DNA

w38 DNA e &$8

Cutting of DNA into small fragments

DNA weasyeao i'.JE\"ﬁ &‘i}:ﬁzvusrr-‘ oG oY Bo

Question Number : 74 Question Id : 1874635194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Klinefelter individual is Barr body positive
Reason (R): Klhinefelter individual carmries two X chromosomes

A3go (A): EE-EBE{T 558 =6 D50 €08 ol
o (R): E;Sibgﬁ S580° Dok X FRrStlnen Godran

Options:
Both (A) and (R) are correct and (R) is the correct explanation of (A)

(A) 58050 (R) &0 Bodsr H0G5 536050 (R) @38 (A) & H85308 55w
l. e ; =

Both (A) and (R) are correct buf (R) 1s not the correct explanation of (A)
(A) S8on (R) &0 Sodr 285080 570 (R) ©3b (A) § 205308 Jide s

(A) 1s correct but (R) 1s not correct

(A) 50558 9 (R) H0GB5H 596

(A) 1s not correct but (R) 1s correct

(A) $863:56 5& 59 (R) $05056
4.
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Study the following statements and identify the incorrect statement

Bod worods K0200D J05°A woFR) Mfodod

Options:
The DNA 1s fragmented by restriction enzymes
DNA &0 5@55 JoBdwe o no&EboSEo

Fragments are separated by centrifugation

wu[‘éﬁggﬁ S OG0 POTeD S Bobdo

DNA 1s denatured by alkali treatment or heating
578 darcharen, B4 agor DNA & Serd 50 Joboddo

Fragments of single strand DNA are transferred to nitrocellulose sheets and are
identified with probes

DEFE DNA porroi JEDeogd™d D8 58, @Fde oo Hioddo

Question Number : 76 Question Id : 1874635196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Study the following statements and identify the incorrect statement regarding genetic drift

2oy JTOR Ar0) fol woTeoi edgebio Do H0TQ TR HBowIsw

Options:
Chances of losing a particular allele from small population is more

%) aTerd’ il JEeE A 5‘95‘56&3 wSs5do 289,89

End result of genetic drift 1s either fixation or loss of allele.

adog A n:':‘ﬁ wodSonddo ?:Jmﬂgds'a oo SRdFSdo

Genetic drift tends to mcrease variations

a::-fug Q%ﬂméa’} SJTge ﬁ&ﬁ?s@"‘?ﬂ SOTIINI



Bottleneck effect illustrates genetic drift

i3I8 |wegrdo aaﬁag ﬁﬁg*pééﬁé: ST G
4,

Question Number : 77 Question Id : 1874635197 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A): Geographical isolation brings about the sympatric speciation
Reason (R):  If one species diverges to become two or more species. it is called
cladogenesis

YT (A):  FHEE ISEE S0 DoFBE o GBS 2KHE08
580 (R): a8 @ Doy Tpen DGI0n Body B8 Iq N e IHES T

Options:

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(A) 58053 (R) ©0 Dok SOGHHD Ho8a50 (R) 3b (A) & 583335 D58

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)

(A) 08050 (R) o0 Bodr $0GED 50 (R) ©36 (A) § $83305 S0 57

L-2

(A) 1s correct but (R) 1s not correct

, (4) 5056 50 (R) 905050 5t

(A) 1s not correct but (R) 1s correct

(A) $6g038 5% 5% (R) H0G058
4.

Question Number : 78 Question Id : 1874635198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which statement 1s correct regarding cancer cells

E:—ﬂ(:ﬁ geore (DO0D HOGTD a*g:g?ﬂ: oo
Options:
They exhibit contact inhibition

ﬁgc@ N GEED PHEhRrox
1. =



Cells are joined by cadherins

. Segren Ecég&%ué‘?:’“ CATeTATI IR e eI

Cancer cells undergo apoptosis

: 520 Serren Derdsad Swdodards HivwYerow

They starve the normal cells by competing for vital nutrients

Frdee Sored’ FUHE B8 Fisren vdodom DTon
4

Question Number : 79 Question Id : 1874635199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following

List-1 List-1I
A) Sandwich assay I) Enzyme catalysed colour production
B) IndiwectELISA II) Pregnancy test
C) Competitive ELISA ) Used to detect antibodies
D) DirectELISA IV) Used to measure the amount of antigen

V) Used to detect antigens

Bod T8I =EJ5Uod

o -1 e - 11
A) Fobdd wwy) D Qo3 ﬁ‘i@gﬂé‘é S0l & &8
B) wo&gs ELISA 1) alepfeysly 508
C) &8&&; ELISA ) He8FeH HEosE I GIBradrd
D) &g ELISA IV) $&z58 Jned) SFodwds IABrigs
V) (@éas58inod Hiodarld &¢Id3rAdrd

The correct answer 1s
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Options:
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Question Number : 80 Question Id : 1874635200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Study the following statements

A) In germ line gene therapy functional genes are introduced into somatic cells

B) Synthetic oligo deoxynucleosides are used for silencing the disease causing genes
C) The transgenic amimal product o-lactalbumin is used to treat emphasema

D) Viral vectors are used to send genetically modified DNA by a process called
transfection
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From the above. identify the correct statements
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Question Number : 81 Question Id : 1874635201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The sides of a rectangular plate are ( 9.0+0.3)cmand ' (3.0£0.1)cm. The area of the plate

with error limits 1s
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A particle first accelerates from rest and then retards to rest during the time inferval of
8 s. If the retardation i1s 3 times the acceleration. then the time for which it accelerated 1s
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Two balls are projected from same place simultaneously. One ball is projected vertically
upwards and the other at an angle of 30° with the horizontal. If these two reach the ground
at the same time then the ratio of their mitial velocities is
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A boy can throw a ball obliquely to a maximum horizontal distance X" while standing on
the ground. If he throws the same ball from the top of a tower of height ‘X’ at an angle of
45° above the horizontal from the foot of the tower. the ball hits the ground at a distance

(Assume same initial speeds)
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A body slides down in a time ‘t” from rest along a smooth inclined plane making an angle of
45° with the horizontal. When the same body slides down from rest along a rough inclined
plane of same length making the same angle. it takes time ‘pt’ then the coefficient of friction
between the body and the rough plane is (p is a constant)
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A car moves along a horizontal circular road of radius ‘R’ with a tangential acceleration ‘a;’.
The coefficient of friction between the road and the tyre is ‘", The maximum speed of the
car to move without skidding is
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From a point on a smooth horizontal plane. a body is projected with a velocity 20 ms™ at an
angle of 45° to the horizontal. If the coefficient of restitution is 0.5. the total horizontal
distance it travels before coming to rest after several rebounds is

(Acceleration due to gravity = 10 ms™)
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Question Number : 88 Question Id : 1874635208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A ball B of mass ‘m’ 1s tied to a 90 cm thread of negligible mass and is pivoted from a rigid
point ‘O, The ball B 1s pulled aside through 60° and then released. When the ball B reaches
its lowest position. it collides elastically with another ball P of mass *2m’ at rest on a rough
horizontal table of coetficient of kinetic friction 0.1. as shown in the figure. After collision.
the ball P travels a distance “d " before i1t comes to rest and the ball B reaches a maximum

height ‘h’. Then. the value of (%] 15

(Acceleration due to gravity = 10 ms™2)
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A 15 gram ball is shot from a spring gun whose spring has a force constant of 600 Nm™..
The spring is compressed by 5 cm. The greatest possible horizontal range of the ball for
this compression is

(Acceleration due to gravity = 10 ms™)
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Two particles P and Q are moving in a circular path of radius 5 cm. At t=0. they are at the

) g T !
ends of a diameter and have equal angular velocity of —rad s~!. The angular acceleration of

Q 1s twice that of P. If both the particles move in clockwise direction they meet after
3 s. If P moves in clockwise direction and Q moves in anti-clockwise direction then they

meet after
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Consider a pair of identical pendulums. which oscillate with equal amplitude independently
such that when one pendulum 1s at its extreme position making an angle of 4° to the right
with the vertical. the other pendulum makes an angle of 2° to the left of the vertical. The
phase difference between the pendulums is
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The time period of moon around the earth is 28 days. If the mass of the earth is doubled.
without any change in the distance of the moon from the earth. new time period of revolution
of the moon is
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A composite steel rod PQR 1s made of two rods PQ and QR as shown in figure, The lengths
of two rods PQ and QR are 20 cm and 10 cm respectively. The area of cross-section of the
longer rod is 2x10~* m? and that of the shorter rod is 1x10~* m?. If the composite rod is
stretched with a force of 50103 N, the total elongation produced is

(Young's modulus of steel = 20 = 1019 Nm)
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Match the following List-I with List-IT
List-1 List-11

A) Equation of continuity I) Less than critical velocity
B) Bemoullie’s theorem II) Formation of eddies and vortices
C) Turbulent flow ) Law of conservation of mass

D) Stream line flow IV) Law of conservation of energy
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A body cools from 60 °C to 40 °C in the first 7 minutes and to 28 °C in the next
7 munutes. The temperature of the surroundings is
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Two 1dentical rods are joined as shown in the figure. The temperatures shown at the ends
are in steady state. If there is no heat loss through lateral surfaces of the rods. then the
temperature at the junction is
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Two moles of a monatomic gas at 27 °C and three moles of a diatomic gas at the same
temperature expand adiabatically. If the work done by each gas during the expansion 1s
4157 1. the ratio of the final temperatures of the monatomic gas to that of the diatomuic gas 1s

(Universal gas constant = 8.314 Jmol"'K™)
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Carbon monoxide (T = g] is carried around a closed cyclic process abce. in which “be’ 1s

an isothermal process as shown in figure, The gas absorbs 6000 J of heat as its temperature
1s increased from 200 K to 800 K in going from ‘a” to ‘b’. The quantity of heat ejected by
the gas during the process “ca’ is
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Mass of each molecule of gas “A’ containing ‘N molecules is ‘m’ and mass of each molecule

of gas ‘B’ containing ‘2N" molecules is “2m’. These two gases are contained in a vessel

which is maintained at a temperature T. The mean square velocity of the molecules of gas B

is denoted by 2" and the mean square X - component of the velocity of gas A is denoted by
2
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A string fixed at both ends is vibrating in the lowest mode for which a point of maximum

th
1
displacement lies at [Z] of its length from one end. The frequency of vibration 1s

100 Hz. If this point 1s to be again the pomnt of maximum displacement. then the frequency
of the next mode of vibration is
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The frequency of a note emitted by a source changes by 10% as it moves away from a
stationary observer. If it moves towards the stationary observer with the same speed. the
apparent change in the frequency 1s
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A double convex lens made up of a material of refractive index 1.6 1s on a plane mirror. The
space between the lens and the murror is filled with water. When a point object 1s placed
at 30 cm above the lens system. then its image coincides with the object. Then the focal

length of the lens is
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In Young's double slit experiment, the distance between the slits 1s 0.5 mm and the distance
between the screen and sources is 50 cm. If a light of wavelength 5000 A is used and the
total set up 1s immersed in a liquid of refractive index 1.5, then the fringe width 1s
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Assertion (A) 1 When a body acquires negative charge. its mass decreases.

Reason (R): A body acquires negative charge when it gains electrons.
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When two pomnt charges are at some separation in air. the force between them 1s F;. If the
space between them 1s filled with a dielectric of dielectric constant 4. then the force becomes
F,. If half of the distance between them 1s filled with the same dielectric. then the force
becomes F;. Then the ratio of F. F, and F5 1s
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1000 g 1520 + Sﬂ;}:l volt. Then the

X X X

Electric potential at a point (x. 0, 0) is given by V = [

intensity of electric field at x = Im (in Vm1) is
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Two circular plates each of radius *r” and charge ‘q’ form a parallel plate capacitor. Then the
force of attraction between the plates is

(Medium between the plates 1s air).
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An electrical circuit consists of A. B. C. D bulbs and a battery V as shown in the figure.
When the switch 1s closed
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In the circuit shown. the current through 20 V cell 1s
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A current carrying conductor has 8x10% free electrons per meter length having drift
velocity 10~ ms™. If a magnetic field of 5 T is applied perpendicular to the conductor. then
the force per unit length of the conductor in Nor! is

28 Dgs PITro o af Dobd FEHIE 8x10% By JogSes 0N BEB.
JoEse 188 360 107 ms™. o5E0p T8 voadur 5 T (Bdm ko wokdyod o

[ -

BRFNODS, b P8 Jsrod FEHD B Bodw wodn Nm! ws®

Options:

, 64

32

L2

3. 16

, 6.4



Question Number : 111 Question Id : 1874635231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An ionised gas is subjected to an electric field along positive X-axis and a magnetic field
along positive Z-axis simultaneously. Then
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If the earth's magnetic field at the equator is 0.4 & then the earth's dipole moment i1s nearly
(Radius of the earth = 6400 km)

aﬂﬁﬁacjgﬁm 3G v wddod 8o 0.4 G wond grd BIEy [@maBo Hodrdm
(5= mg_ﬁ*go = 6400 km)

Options:
0.73x10%2 Am?

. 1.5%10% Am’



: 0.87x10% Am?

, 1.05x 108 Am?
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. ) z : . . - T
The current flowing in a coil of inductance 2 mH varies as 1 =t~ e™* ampere (where ‘t" is
time in seconds). The time in which the induced emf in the coil becomes zero is

BOEgco 2 mH fo 88HLs® H350d d8gé Bardro 1 =12 e wodohd) (28,6
teddo soldn DEDOS®) M Srddéd. wand 8riihis® (LSS Jgra Drdglohit
&8N swo

Options:
| 4s

6s

-2

3.25

8s
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If a direct current of ‘a’ units 1s superimposed with an alternating current I =b sin ®t. then
the effective value of resulting current 1s

‘a’ |Pdorse doen Ko 850y (do) 3&&355 Parran, I=D0 sin ot Do

i
Prdtiuy egdiondn BobodsPHds Ddﬂ}& QoGS @aIrTrHw P08 D

Options:

b | =

L= (az +b2)

pa | =

E’tz 2
Imm = ?'l‘b



1 | =

2
N a’ +b°
Inns T B
3
1
I 3+b;3 3
=| g _
IS
2
4.

Question Number : 115 Question Id : 1874635235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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The horizontal and vertical components of the electric field of an electromagnetic wave in
free space are respectively
E,=2sin(mt+pz)

E, =2 cos (wt + Bz)

Then the displacement current density 1s (Take = +/—1)

r‘i}“&?’ﬁoéﬁoﬂ“éud‘:‘ @B ﬂﬁgddﬁsﬁ*&ufﬁ Sdoflo By, é’.‘ldﬁ..gr'j BS Bz Ddrodd LBt

€23 S0 BOTe) oS

ferm

E ,=2sin(ot+pz)

Ey =2 cos (wt + Bz)

©ouN FIFoT IS P Todd (] =.J—_1 T S0 M0 8k0)
Options:

| Jogg

2jme,
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The ratio of de Broglie wavelengths of molecules of Hyvdrogen and Helium in two
different gas jars at temperatures of 127 °C and 227 °C respectively 1s

127 °C &0osw 227 °C s $& I I FFos' fo TG =D Hodd TGO

JPOS0 wepe GEToN éduﬁ@%géﬂm Qe

Options:

L2
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If the wavelength of a photon emitted due to transition of electron from third orbit to first

orbit in a hydrogen atom is A. then the wavelength of a photon emitted due to transition of
electron from fourth orbit to second orbit will be

TEee WSrmedSt 35 8Eg od 15 S5 Jogme JoEdneo ol Jddo wond
o o i é‘iduﬁqﬁ_%m Awond, 45 855 @o0d 25 855%0 QtJIL%S DoEdmo Sod Jenda
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Options:
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A radioactive element disintegrates for an interval of time equal to its mean life time.
The fraction that has disintegrated 1s

.86 3&@?&“&? Saredo 70 Dt £285cerdE Sar

A
9
G
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E}:
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Options:
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IfA=1.B=0and C=1inthe following logic circuit. the values of X and Y are respectively

[N 8, Jodhod® A=1.B=0%500 C=1 wond, XS8dn Y Jenden SE0mM

1
) D—ex
Nl %

Options:
, 0.1

1, O
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th
The amplitude of the modulating wave is (g] of the amplitude of the carrier wave. The

percentage of modulation 1s

SraogBiiol ddod FPod H0N8, s ddol Fod H0Nes” (Ej;ﬁ S0 ol
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ST 575:“5.15 o

Options:

i 20%

40%
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Question Number : 121 Question 1d : 1874635241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The energy of an electron in the excited state of hydrogen atom is —1.36 = 107°7. Then
according to Bohr’s theory. the angular momentum of this electron in Js is

aB2d 05° TE'as Hireuds® Jogs ¥§ —1.36 x 10777 wond $°6 drrodo
B5do, uv JuEge hoh |Kig o Ts o
Options:
| 421 x 107
» 2% 1677
, 105 x 107
" 34
, 316 x 10

Question Number : 122 Question Id : 1874635242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The wave number of the spectral line in the atomic spectrum of hydrogen is equal to

= : \ R
ERHIH . The energy associated with that spectral line is (R; = Rydberg constant)

==

3 B
IER0 DOSrm HF SLos' Sgad Ty ddor Sopg —Rym l$ B350, © 5658
L ER E3 9 ]
S& eonodRos 8 Jeod (Ry; =08 of boroko)

=0

Options:



1.104 x 107 Ry Jm
1.

2.208 x 10°° Ry, Jm

]

3.312 x 107’ Ry Jm

1.766 x 107 Ry; Jm

Question Number : 123 Question Id : 1874635243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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s o ; 2+ :
The oxidation state and covalency of aluminium in [AJ{HED )5 Cl} are respectively

2+ :
[Al(H,0),Cl] & wergdaho shstn 8. Sodrasses Shibm

Options:
i T3

o s

Lo
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The number of lone pairs of electrons present on the central atom and number of bond

pairs in the following species are respectively

i

SoldE HESrevdn Ko wobd QuEFen zde Jopg, wod wdo Jopg Bod Frdhed”

TeSE Ty

XeF, [PCL]" SnCl,  [BeF,J*
(A) (B) (©) (D)

Options:



(A) (B) (C) (D)

(]
I-2

1.4 1.4 0.4

(A (B) (€) (D)

@ @® © O

@ ® © O

0.4 1, 0.4
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In which of the following group of molecules. bond angles are in the increasing order?

Bod o wende ddardods® o Soren OH Eod® Golron?
Options:

| CH,.NH; H)0

_ H,0.BeCl,. BF,

H,S.CH,. SO,
3 B

BF,. NH,. SF,
4.
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Assertion (A) : In anideal gas all the molecules travel with same velocity

Reason (R):  Ideal gas molecules neither attract nor repel each other
Afdo (A): BTN Sodd vl v ol I Wardon
o (R): sEHIroin oo IEH)Go wEBoEY), JEVoEY

The correct answer 1s
DOGDH DSrTEhw
Options:
Both (A) and (R) are correct and (R) is the correct explanation of (A)
1 (A) H08050 (R) e0 Sodr H005D Hobddn (R) @38 (A) $ 504385 2580

Both (A) and (R) are correct and (R) is not the correct explanation of (A)
(A) 58050 (R) o0 Todr $6G05D 50800 (R) 03d (A) § $0508 IS0 596
2,

(A) 1s correct but (R) is not correct

(A) 5802058 52 (R) $0G88 5%
3

(A) 1s not correct but (R) 1s correct

(A) 503358 5@ 59 (R) $053058
4,
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50mL of 0.1 M Na,CO; (molarmass 106 g 11101_1) taken in a litre volumetric flask is made
upto the mark by distilled water. What volume of this solution is required to exactly neutralise
20 mL of 0.02 N oxalic acid dihydrate (molar mass 126 g mol™) solution?

o8 L HIV0Srerd)E TS &) S0 mL o 0.1 M Na,CO; (Brord (&hg0°3
106 g 11101_1} S %"Js&&@ fo Mol 05 ?ﬁﬁcﬁrﬂ 2oo SonddnNd. 20mL.o 002 N
errd§ o F@8 (Brerb Bigoe 126 gmol ) TS g SLgsdno Bokirls

Qod PoSBBS;0S” PG [@TImo WSIEB0S?

Options:



20 mL

~30mL

L-2

| 40 ml.

Lid

50 mL
4
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At constant temperature T(K) and pressure enthalpy of combustion of ethyl alcohol is
—x Tmol ™. So. the enthalpy of combustion of ethyl alcohol at the same temperature and
constant volume in J mol™ will be

98 eid T(K). 38 wdso 5§ a8d veF's &&8 Jomd) —x ] mol ™ wonds® «d

Options:
; RT—x

—~RT +x)
x—RT

4 x+RT
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Which of the following mixtures acts as a buffer solution?

Bod MFSTree” 28 258 [Thmom 3D Bdod?
Options:

0.5Lof 0.1 M CH;COOH+0.5L 0f0.2 M NaHCO;
1.

. 05Lof 0.1 MCH;COOH + 0.5 L of 0.2 M NaOH



5 0.5Lof 0.1 MCH;COOH+0.5Lof0.1 M HCI

5 0.5L of 0.2 M CH;COOH + 0.5L 0f 0.1 M NaOH

Question Number : 130 Question Id : 1874635250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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The decomposition of N,O, to NO, 1s carried out at T(K) i chloroform. When equilibrium
1s reached 0.2 moles of N,O, and 2 * 10~ moles of NO, are present in a 2.0 L solution.

The equulibrium constant for the reaction .N2E}4 = 2NO, 1s

T(K) 5¢ N0y 2050 Bod NO, S af) S F6'PHe’ 206, 356738
2obSOYd 2.0 Ligrdwod® 0.2 molN,0, ., 2 x 102 mol NO, &0 &5, 'NED;@ = 2NO,
gt Sderporoso dend

Options:

B 107

T s

-2

3 102 107

1.0x10~*
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Which of the following is not representing the reducing property of hydrogen peroxide?

Bod T8S* 26 TERS WoRbh oidn $omR) SgEo Wah?

Options:
H,0, +1, + 20H™ = 2T" + 2H,0 + O,
1:

2MnOj +3H,0, — 2MnO, + 30, + 3H,0 + 20H"

2MnOj; + 5H,0, + 6H* — 2Mn”* + 50, + 8H,0



PbS + 4H,0, — PbSO, + 4H,0
4,

Question Number : 132 Question Id : 1874635252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Among L1,CO;. Na,CO;3. ZnCO;. CaCO; and K,CO;. the total number of carbonates which
give carbon dioxide on heating is

Li,CO3, NayCOs3, ZnCOj, CaCOs5, K,COz06° 3830553 % 56,5 8 686 ad) s°6338

o .

oo ?T:-u;;:g

Options:

.3

[ ]
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In vapour phase. aluminium chloride exists as a duner with the structure given below. The
correct relationship between the bond angles 6,. 8, and 6; indicated in the structure 1s

TOIVEPERS”, vor;idcho 86 Grwmoom wob §od TR 08 Golwod.

Qoo SrRodd wodfaror 0. 6, By v Hogy BORS domodo

G—

Cl Cl C

1
\ 6,
Al 0,( Al Qj
Cﬁ// \\c1 1

C

Options:

6,<6,<6,

5 Dy
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Graphite has layered structure in which each layer 1s made of planar hexagonal rings of
carbon atoms and layers are held by van der Waals forces. The C-C bond length with in the
layer and distance between two adjacent layers are respectively

M8, Do Joeod 0N (DTS s HSSrmder dMde AT e Jodire
JJT%?&O@" @ od Ffo Ny Todd TS widn wores &odron. 5 C-C 208 E%SU
00050 Do B8, ﬁs’a_ o ;‘.’ucﬁg Groren HHm

Options:

141.5 pm, 340 pm
1

" 340 pm. 141.5 pm
: 143.5 pm. 154 pm

, 141.5 pm. 138.3 pm
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The reagent used m the determination of COD of polluted water is
enhd A8 COD o SJG;Guiiz&J&SJ Godriod s°Itdn
Options:

50% Hz 804 KECI‘QD?
l.

2

; HI/OH~
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®
In the set of species HS™, BF;. R;N. NO, _AICl;. H,0. C,H;O". the number of electrophiles

and nucleophiles are respectively

” |
HS™, BF3. R3N, NO,, AICl;, H,0, CH;0™ 63 aréoo $086°, Jog pden, $rgddrpd
& éug::&m ntsmnr

Options:
. 3.4

. 4,3

2D
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In the formation of Y and Z as major products. in the following reactions. the
intermediates involved respectively are

Bob S8ges” Y, Z @S e )djenm JHOEL0E, JEE BogTeo SHdT

[ o !
HE:
3 Z
= _ H, Pd/C-Quinoline
CH; -C=CH s 5 X
HB:
L > v
(CH.CO),0,

Options:



_ . '
H,C-CH,-CH,. CH;—CH-CH,-Br

[ .
CH;—CH-CH,, CH;—-CE-CH,

Br

| ' i
CH;-CH-CH,-Br. CH;-CH,-CH,

_ _ »
CH;-CH-CH,-Br. CH;-CH-CH;

Question Number : 138 Question Id : 1874635258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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=t . T+ + _— S
The homologue of ethyne on addition of water in the presence of Hg™ | H ™ at 333 K gives
an unstable compound X. This on isomerisation (tautomerisation) gives Y. The functional
group Y is

&35 doi@%o (Homologue) Hg” | H™ sogoes® 333 K 55 d86° Sosvio Bob X vk
wid $30p¥E0d 2. 26 2FIPVBAS (LriFTRAES) ogor Y adyyde. Y Sodd



|
-C-H

|
—~C—-OH

—OH
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- Fp 2 e M ; ! , . .
The percentages of N1~ and Ni® present in nickel oxide having the formula Ni 4qO are
respectively
Ti - o g T o s
Nij g0 &rdqer o J86 @S ™y NI, Nio* seren S&&m

Options:
| 959, 4.1

4.1,939
98.0. 2.0

2.0, 98.0

I
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At T(K). the vapour pressure of a pure solvent X 1s 0.8 atmospheres. What 1s the mole

traction of the non-volatile solute Y in the solution. which drops the vapour pressure of
X to 0.6 atm?

T(K) & =8 dEiordld X erd
T e88 Eﬁﬂﬁﬁ”-’j& TR ) 250 0.6 wir)o Jm’&dﬁ.‘: 803, EHeed® Y Ird o

3

8o 0.8 LT o). Y o3 vodpe led) Xed

o
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2.5 g of phenol (molar mass 94 g 11101_1) dissolved in 200 g of benzene shows a depression
in freezing point equal to 0.512 K. What is the percentage of association of phenol if it
forms a dimer i solution?

(Kyof benzene = 5.12 K kg mol ™)

25 g0 pad S (Brord (@hgo0e 94 g mol” Y) 200 g BogSes® gon 0.512 K Ho2558
%Eﬁ E}ﬁq B0 drasd. eb [Tdees’ Eh e B Qi‘j:jﬂ o, e ﬁ““@“ﬁc’}g TG Jos?
(Bogs K, deod =5.12 K kg mol” Ly

Options:

, 304

49.6

-2

-]
L ¥
-

-2

6.8
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If the resistance of the conductivity cell filled with 0.02 M KCI solution 1s 516 £2. the
molar conductivity of the same solution in Sm” mol™ is (cell constant = 129 m™)

0.02 M KCl &m0 Qond dgs arirés Sobo ATF¢o 516 Q wond, uld (@dmo
arerd Jdogd TrEdEo Sm? mol ! &&* (Hots %Tuéu =129 m)
Options:

| 1.25 1072

2.50 x 1072

L-2

125 %107

Lad

250 x 107

e
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If the time required for the completion of 75% of a first order reaction 1s 30 minutes. the
time required for the completion of 93.75% of the reaction in minutes is

@b R [Bares Wiy 75% b soHiras é@s‘-‘mu 30 AoTren wonHT, =i aleiy
93.75% &g THLrds HTvwo DTS

Options:

45

2 30

3 60

. 75
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In the coagulation of .1:3203 -xH,O sol. the coagulating power of the anions follow the

order

.FEEC}_,_.IHEO S Eﬁ&uc‘ﬁ:‘ﬁué{‘ ﬁﬁéﬁdﬁﬁ%ﬂé 0, 0858 :f.’:“uigs B0 Bod Jdom trodinod



Options:

Phosphate > Chloride > Sulphate
& E«J&éﬁ =806 = $E5Qé.5

Chloride = Phosphate = Sulphate
§3& > 3‘?&&65 > é_ﬂi}&i

Sulphate = Phosphate = Chloride
- : — =5, A5
c«:'a;)ﬂb - a’ E-:'QJ&-:' = ﬂfﬁ

Phosphate > Sulphate > Chloride
& > 888 > 538
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The number of carbonate. sulphide ores respectively from the ores given below is:

Calamine. Copper glance. Fool’s gold. Sphalerite. Siderite. Chalcopyrites

Bod Bwdpdwrod® sTENRE, ﬁ@g& Snbplare Dopgen HEHT:
Tos, 558 mF), PG A, MRS, HEBE, TS POES

¢

Options:
2,4

L2
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' CuCl,
HC].‘!‘OE —EE'—}X‘FY

X+Y + Na,S,0;——Na,SO, +S+HCI
X and Y in the above reactions are

2 Wged® x,y e

Options:
| CLO.H,0

H,0. Cl

H,0,. ClO,

Cl,. H,0,
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If Xe and F, are in 1:20 molar ratio n the reaction

573K 3H,0

6070 bar () >Y +6HF

X&) Thy

The shapesof X and Y are respectively

& 808 $65S5* Xe 5000 Fy1:20 3rerb dR8S° wol

573K 3H,0

Xe(z) T Fa>) —50-70 bar > X FooHE

X Yo @s'au:ﬁatu SO

Options:
Distorted Octahedral. Pyramidal

i JOTFHee0 Bodo @éﬁmﬁ}cﬁs a8 ansd

Pyranudal. Distorted Octahedral

Sbandd, Jirseo Tobd E%ﬁ)}ﬁ}@

1



Square Pyramidal. Pyramidal
LAGER DOES, HEES
3

Pyramuidal. Square Planar

WOMEO, JWdo TSRO
4.
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The number of P-O-P bonds present in the oxoacids of phosphorous given below are
respectively

Bod 7 52&5&5 ﬁ"ﬁg}f}ﬁ} &ESTJ wired® P-0O-P wogre ﬁog&a S8BT

H4P,0; (HPO3); HyP;05 H4P»0p
I II I A%

Options:
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The number of moles of dichromate [Cl‘gﬂg_) and permanganate [Mn{f};) separately

required to oxidise 1 mole of ferrous iron each n acidic medium are respectively

1 36 DD 065 DEIEM ehE0odiras wssdidhy BEEES (Cr07 ), Somyords

(Mn{];) © oo Jopgor HASM

Options:

b i
L 65

3.2
55

L3
3 4 3
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The Wilkinson catalyst used in the hydrogenation of alkenes is

B S TIERIET00" GOHBriod IS0 & 3\880
Options:

Na; [Ag(S;03))]
1.

[(PhsP);RLC]]

- [Co(NH;)6]Cl5

Lid

, INI(CO)]
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Novolac. a linear polymer is formed from which one of the following?

SToE ol CPoh FOHE Bod TES AL S0k AE?

Options:
OH
@,CHZDH
CH,OH
1.
OH
HOCH, CH,0H
CH,OH
3
OH
@CHEOH
3
OH

©/CODH
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The number of -CH,OH groups and -CHOH groups present in the open chain structures of
D-(+)- glucose (A) and D-(—)-fructose (B) are respectively

D-(+)- #28'& (A). D-()-$5E (B) o d5@dhope Joymes’ Ko —CH,0H. -CHOH

%]

eI TR e Ef:'ugpgtu nTebPSTan

Options:
A B

| 0,5 1.4



e
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9 2.8 1.4
A B

;1.4 2 3
A B

5 5D 4.0
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Which one of the following artificial sweetners does not have -CONH- group?

EITARENZING 8osdsres® —CONH- Sdordrdn S8 262

Options:
Aspartame

BRI T
[+%]

Sucralose

B S E

L2

Alitame

e )& o

Saccharin

L6
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Which of the following statements are correct with respect to Sy2 reactions?

I)  They follow second order kinetics

II) Opticallyactive alkyl halides give racemic products

II) In the case of optically active alkyl halides. the product formed has inverted
configuration compared to the reactant

IV) These reactions proceed through intermediates

SN2 Ssoin Donodod §obd Fypgee” H0GHSI D7

D) o &dobh Eirod K85 T whddaan

D Eode oo w8 Fok BVWE G TodTon

) ode @ho o) d T8¢ JAcHod NG addho Bairadisod Foy IS
Jargo Gotunod

IV) & Gogoo mcﬁgﬁ;}m oo edufogran

Options:
| LIOLIV

I. IT only
. IL.IV only

LIV only
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Methanal on reaction with Grignard reagent A followed by hydrolysis in the presence of

acid gives <:>— CH,OH . Ais

WETSE, Awd (Mg sE508" SEsrod, u Sogd el Hgod” wo Jikewo JFob

G CH,OH % @sig)i®. A o058

Options:



D— CH,-MgCl

<:>— CH,~CH,-MgCl
3

G CH(CH;)»-MgCl
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L2

Identify the set from the following. that produces anisole

8ol aBcRdS TES, O HWE NFER I6HH0E HBowEN?

- ]

Options:

C,H,CHO. CH;MgCl
1.,

C,H,OH.NaOH. CH,I

L2

C,H.OH. NaOH. CO,
3 -

CH.COCH,. LiAlH,

Question Number : 157 Question Id : 1874635277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following
Bod T8 28580

A)

B)

8

D)

List-1
eHe -1
(Name Reaction)
(55 &)

Reimer-Tiemann

BE - BH0S

Hoffmann bromamide

FOS S8

Rosenmund
Sundoobh

Sandmeyer

Folh Josb

The correct answer 1s

DOGS DIFTHIN

Options:

A

1\;."

=

B € D
m. I 1
B C D
| I

List-1I
ade -1
(Main organic product)
(Bees 88y dargo)

CHO

» Q)
i Q/m
i @,0@13

CHO

@,OH
V)
V) Q/NHE
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CHCl,
2 5
©/ 373K R e—y

NaOH
3K N
cH,cOCl
Anhydrous AIC, >
e AlCl,

Formation of R from P and Q is an example of

P.Qo d0& R bé&c‘éé&u wad &J8 GTde
Options:
Cannizaro reaction

Eders iﬁdg

Simple aldol condensation

v

s Tet4 EE#.E@ S ORIea0

Mixed aldol condensation

o

o |Fa33 e_swwef: RDOFDNN0

Remmer-Tiemann reaction

B8 - BT 355
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Arrange the following in the order of their acidic strength
Bod T8, T8 e woo ENoST WM

CH;OH (CH;),CHOH  H,0 (CH;);COH  CgHOH
I i I \Y \%

Options:

| V>II>I>1>1IV

HII>V=0O=1>1IV
IV>I>I>M>V

" I=II=IV>=V=>=1IO
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e Diazotization | Cu,Cl, | (i) NaOH 4
Aniline *X—4er Y B3R 300am 2
i) H*

Z 1n the above sequence of reactions is

nhe  G00SBE6wo | CElh . - ()NaOH
AVOS »X—der Y 638 300am 2 2
i) H”

COO Na~

L2



Cl

OH

Cl



